Algebra Development 3.2

Algebra 2
State the property of real numbers illustrated in each problem.
1) at0=a 2) 5+d+0=5+d 3) ((/kkG)=1 4) 1/N7=1
5) 2+(q+35)=(q+t5+2 6) 4+(w+7)=@+w)+7 7) (8-2)9=28(9) - 2(9)
8 r+(1)=0 9) v(w)=w(v) 10) 3(4x5)=(4x%x5)3
Simplify the following expressions.
30 12 12+7%-13 24 32
1) = 12) o 13) Y e = 15) ==
65 60 (36 +9) 235 121
16) 15 17) 4 18) 27 19) 147 20) 3 16
5 rke 8 20 50
Simplify.
21) -36 22) +/-121 23) =27 24) -17 25) 22

26) -¢° 27) +-4w’ 28) 847 29) f—48 %k’ 30) +—2lab
g J

Identify the sets of complex numbers to which each of the following belongs.

31) -13 32) 7 33)4-2i 34) V3 35) -4+ 0i
36) .925 37) Jo 38)0- 81 39) 17/31 40) -4
Simplify.

41) 71+ 14i - 101 42)2+3i+3 43) (7 -1) + (2 + 6i) 44) (5 +3i)- (-2 +1)

45) (14 - 3i) - (-4 - 7i) 46) 121 -2 +7 - 4i 47) (4 + 6i + 2i) - (3 + 8i)
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